CSCI 2670 Intro. to Theory of Comp.
Quiz 1

8/24/05

Name: ________________________


(1) (4 points)  What binary relation is represented by the following graph?
(2) (3 points)  Let A = {1, 2, 3, 4, 5}.  Give three elements of P(A), the power set of A.
(3) (3 points)  Let G be a directed graph with vertices V = {1, 2, 3, 4} and edges E = {(1, 2), (1, 3), (2, 4), (3, 3), (4, 2)}.  Draw G.
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Any three elements from the following list of elements:





(, {1}, {2}, {3}, {4}, {5}, {1,2}, {1,3}, {1,4}, {1,5}, {2,3}, {2,4}, {2,5}, {3,4}, {3,5}, {4, 5}, {1,2,3}, {1,2,4}, {1,2,5}, {1,3,4}, {1,3,5}, {1,4,5}, {2,3,4}, {2,3,5}, {2,4,5}, {3,4,5}, {1,2,3,4}, {1,2,3,5}, {1,2,4,5}, {1,3,4,5}, {2,3,4,5}, {1,2,3,4,5}





{(1,2), (1,3), (3,2), (3, 4)}
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